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SOLUTIONS TO PROBLEMS 

1. 11.2556550 
2. The roots are 3, and 

-3 ±y1T 
2 

Limiting ratio is 3 . 
3. The roots are -2,, - 2 , r and s. Limiting ratio is -2 . 
4. The roots of the combined recursion relation will be 1, r , s. Limiting 
ratio is r . 
5. The roots of the combined recursion relation are +2, +2, +2, 

3 ± y i 3 
2 ' 

The limiting ratio is 

3 + ^ = 3.3027756 . 

6. The roots of the auxiliary equation are 2, 

1 ± V l 9 i 
2 

The absolute value of the complex roots is greater than 2. Thus the sequences 
will not have a limiting ratio. 


